BlILE A2 107 25 BRATHELANE AR

APFBE4 ] - 48732 4 (0545)

FRXHB (KE): EREEEL(4501) :
# 2 B %_| = #a [5%45 - F] %%

1. If the inverse market demand function facing a duopoly is p = a — bQ, and the
marginal and average cost of Firm 1 and 2 are c and c + X, respectively, where
x > 0. In each of the following scenario, please solve for and compare the two
firms’ equilibrium output level and corresponding profits. Is there any
restriction on values of parameters that one needs to assume? If yes, what are
they? [30 points]

a  Suppose two firms simultaneously determine output level in which they
engage in Cournot competition.

b  Consider the Stackelberg competition where Firm 2 decides output level in
the first stage, and Firm 1 decides output level in the second stage.

c Suppose two firms merge into one firm where the average total cost and

marginal cost is given by c.

2. Explain the Expected Utility Theory. Provide at least two examples in which the
Expected Utility Theory is violated from the observations of behavioral
economists. Briefly explain the Prospect Theory proposed by Kahneman and
Tversky. [20 points]
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